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Progress Check

1. (z + 3) is a factor of p(x) , if p( ) =0

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_zohM7zxkVEJG

2. (3-x) is a factor of p(x) , if p( ) =0

° Watch Video Solution

3. (x-3) is a factor of p(x) , if p( ) =0

° Watch Video Solution

4. (-x-b) is a factor of p(x) , if p( ) =0

o Watch Video Solution



https://dl.doubtnut.com/l/_LNmtcEDoZGFr
https://dl.doubtnut.com/l/_N6jPA48Usyze
https://dl.doubtnut.com/l/_YuBBuNIzHfdQ

5. (-x+b) is a factor of p(x) , if p() =0

° Watch Video Solution

6. Expand the following and verify
i)(a+b+c)=(—a—b-c)
(ii)(—a+b+c)’=(a—b—c)?
(i)(a —b—c)’ =(—a+b—c)

ivy(a+b—c)’=(—a—-b+c)’

° Watch Video Solution



https://dl.doubtnut.com/l/_26AYRFWrR9LN
https://dl.doubtnut.com/l/_EaPNZ6cG8x9k

7. Prove (i)

1\2 1)2
(ii)(a—i——) —(a——) =4
a a

° Watch Video Solution

8. Examine if (3,3) will be a solution for the
simultaneous linear equations 2x-5y-2=0 and x+y-

6=0 by drawing a graph.

° Watch Video Solution



https://dl.doubtnut.com/l/_61vsIylQOXzz
https://dl.doubtnut.com/l/_adIexxVXkAik

1. Which of the following expression are polynomial
Jif not give reason :
1
(i) — +3x — 4
x
(i) z%(z — 1)
(iii) : (z +5)
iii) — (=

_ 1 1
(V) — + — +7
Wi Wi

(v) /B + /32 + /2

(vi)m® — 3,/m + Tm — 10

o Watch Video Solution



https://dl.doubtnut.com/l/_3Mvr2aX6xaWP

2. Write the coefficient of 22 and x is each of the
following polynomials.

7r:132—w—i—2

° Watch Video Solution

3.Find the degree of the following polynomials.

1-v2y° +y

° Watch Video Solution



https://dl.doubtnut.com/l/_BJFJTQVTs5ey
https://dl.doubtnut.com/l/_VPFn44dfKkJt

4. Write the following polynomials is standard form.

(i)m—9—|—\/7w3+6:132

(m¢%?—;ﬁ+m—6ﬁ

6
mnm3—3ﬁ+4x—1

. 7
(iv) y° + /By® — 11 — 3Y + 9y*

° Watch Video Solution

5. Add the following polynomials and find the
degree of the resultant polynomials

(i)

p(z) = 6z* — Tz + 2 ,q(z) = 62* — Tz + 15

(i)


https://dl.doubtnut.com/l/_7l7ZxpmdKWph
https://dl.doubtnut.com/l/_n4yTHEqU8IcG

h(z) = 7z° — 6z + 1 , f(z) = T2° + 172 — 9
(iii)

f(z) = 162" —52° +9 ,g(z) = — 6z’ + Tz — 15

° View Text Solution

6. Subtract the second polynomials from the first
polynomials and find the degree of the resultant
polynomials.

(i) p(z) = Tz* + 6z — 1,¢(x) = 62 — 9

(i) f(y) = 6y — Ty +2,9(y) = Ty + ¢’

(iii)

h(z) =2°—62+2 ,f(z) =622 +102—7

| 0 WAL _L vl ~_ .. _


https://dl.doubtnut.com/l/_n4yTHEqU8IcG
https://dl.doubtnut.com/l/_Zb0hOGIzFQP0
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7.What should be added to 2z° + 622 — 5z + 8 to

get 3z3 — 222 + 6z + 157

° Watch Video Solution

8. What must be subtracted from

2z* + 42? — 3z + Ttoget 32> — 22 + 22 + 17

° Watch Video Solution



https://dl.doubtnut.com/l/_Zb0hOGIzFQP0
https://dl.doubtnut.com/l/_ZCiVffcJFYNy
https://dl.doubtnut.com/l/_oxVfo7gRfvlM

9. Multiply the following polynomials and find the
degree of the resultant polynomials :
(i) p(z) = > — 9, ¢(x) = 62> + Tx — 2

(i) f(z) = Tz + 2, g(x) = 15z — 9

o Watch Video Solution

10. The cost of a chocolate is Rs. (z + y) and Amir
bought (z + y) chocolates. Find the total amount
paid by him in terms of x and y. If x =10,y = 5 find

the amount paid by him.

° Watch Video Solution



https://dl.doubtnut.com/l/_gNgQ3nWSNCfG
https://dl.doubtnut.com/l/_MbzjanxOVx3x

11. The length of a rectangle is (3z + 2) units and
it's breadth is (3 — 2) units. Find its area in terms

of x. What will be the area if x = 20 units.

° Watch Video Solution

12. p(x) is a polynomial of degree 1 and q(x) is a
polynomial of degree 2. What kind of the

polynomial p(x) x q(x) is ?

° Watch Video Solution



https://dl.doubtnut.com/l/_dwmcugTVvpUe
https://dl.doubtnut.com/l/_e2ItCzot0hxv

1. Find the wvalue of the polynomial

fly) = 6y — 3y2 + 3 at

° Watch Video Solution

2.1fp(z) = 2 — 2¢/2z + 1,find p(2\/§)

° Watch Video Solution



https://dl.doubtnut.com/l/_gkHSTuH2L1sb
https://dl.doubtnut.com/l/_huPwWoyOH9rE

3. Find the zeros of the polynomial in each of the
following.

i)p(z) =z — 3

(i) p(x) =2z + 5

(iii) g(y) = 2y — 3

(iv) f(z) = 82

(v) p(x) = azwhena # 0

(vi) h(x) =ax+b,ane0,a,binR"

° Watch Video Solution

4. Find the roots of the polynomial equations.

(i)oz —6 =0


https://dl.doubtnut.com/l/_6KEh50wxU2zu
https://dl.doubtnut.com/l/_IuyxStaq8S7G

iz +3=0
(1) 10z +9=0

(iv)9z —4 =0

° Watch Video Solution

5. Verify whether the following are zeros of the

polynomial , Indicted against them, or not,

mm@=2m—Lw=%

(i)p(z) =2 -1,z =1

(i) p(z) = az + b,z — —2

(ivVIip(z) = (z+3)(z —4),z= — 3,z =4

° Watch Video Solution



https://dl.doubtnut.com/l/_IuyxStaq8S7G
https://dl.doubtnut.com/l/_kWniuYWYU4r3

6. Find the number of zeros of the following

polynomials represented by their graph,

0 T (i) ¥ @iy o\
»
\
" \ r X x
/ \ N
V=0 f
| s
W ¥
(iv) ¥ (v) y
. L]
v T ¥

° Watch Video Solution

1. Check whether p(x) is a multiple of g(x) or not.

p(z) = z° — 5z* + 4z — 3, 9(z) =z — 2



https://dl.doubtnut.com/l/_40rXFb8kaqbW
https://dl.doubtnut.com/l/_85x1AH1Hxukg

| ° Watch Video Solution

2. By remainder theorem , find the remainder when
p(x) is divided by g(x) where

)p(z) =2> — 22> — 4z — 1,g9(z) =z + 1

(i) p(x) = 4z — 122* + 14z — 3, g(z) = 2z — 1

(i) p(z) = 2> — 32® + 42 + 50, g(z) == — 3

o Watch Video Solution

3. Find the remainder when 3z° — 422 + Tz — 5 is

dividend by (z + 3)

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_85x1AH1Hxukg
https://dl.doubtnut.com/l/_UfLZgsuuUgQz
https://dl.doubtnut.com/l/_PRBl600c8utX

4. What is the remainder when z2°1® 4+ 2018 is

divided by x-1.

° Watch Video Solution

5. For what value of k is the polynomial
p(z) = 22 — kx? + 3z + 10 exactly divisible by (

X-2).

° Watch Video Solution



https://dl.doubtnut.com/l/_PRBl600c8utX
https://dl.doubtnut.com/l/_YAQc4sYiDMjR
https://dl.doubtnut.com/l/_wGTbi24EhQBf

6. If two polynomials 2z* + az? + 4z — 12 and
3 + 22 — 22 + aleave the same remainder when
divided by ( x-3) , find the value of a. and also find

the remainder.

o Watch Video Solution

7. Determine whether (x-1) is a factor of the
following polynomials:
(i) 23 + 5z? — 10z + 4

(i) z* + 522 — 5z + 1

o Watch Video Solution



https://dl.doubtnut.com/l/_L66SGqJQKqGM
https://dl.doubtnut.com/l/_WyVBcCO6xHVt

8. Using factor theorem, show that (x-5) is a factor

of the polynomial 2z° — 5z% — 28z + 15

° Watch Video Solution

9. Determine the value of m, if (x 4 3) is a factor of

3 — 3z —mx +24

° Watch Video Solution

1
10. If both (x-2) and (w — 5) are the factors of

az’ + 5z + b, then show that a=b .

| e !


https://dl.doubtnut.com/l/_pqVgV9wpCAne
https://dl.doubtnut.com/l/_A3nZGpscPoQw
https://dl.doubtnut.com/l/_yciWMquxkTzs

| & Watch Video Solution

M. If ( x-1) divides the polynomial
kx3 — 22% + 25z — 26 without remainder , then

find the value of k.

° Watch Video Solution

12. Check if (z + 2) and (z — 4) are the sides of a
rectangle whose area is z° — 2z — 8 by using

factor theorem.

° Watch Video Solution



https://dl.doubtnut.com/l/_yciWMquxkTzs
https://dl.doubtnut.com/l/_CYNkXV5OXorq
https://dl.doubtnut.com/l/_p7pVmZTsjgSu

1. Expand the following:

(i) (2¢ + 3y + 42)°

(i) ( — p + 2q + 3r)*

(iii) (2p + 3)(2p — 4)(2p — 5)

(iv) (3a + 1)(3a — 2)(3a + 4)

° Watch Video Solution

2. Using algebra identity , find the coefficients of

z?, z and constant term without actual expansion.


https://dl.doubtnut.com/l/_MDS1g5M2LNXU
https://dl.doubtnut.com/l/_yE6OX9x43K5x

(i) (z + 5)(z + 6)(z + 7)

(i) (2 + 3)(2x — 5)(2x — 6)

o Watch Video Solution

3. If

(z + a)(z + b)(z + ¢) = z° + 142* + 59z + 70,

find the value of

(Ja+b+c
iy~ 4242
”a b C

(iii)a® + b2 + &2

° Watch Video Solution



https://dl.doubtnut.com/l/_yE6OX9x43K5x
https://dl.doubtnut.com/l/_2cySl00Lu4HB

4. Expand

(i) (3a — 4b)*

3
unlm+—ll
y

° Watch Video Solution

5. Evaluate the following by using identities:
(i) 98°

(i) 1001°

o Watch Video Solution



https://dl.doubtnut.com/l/_Bk1qyLndiq9s
https://dl.doubtnut.com/l/_1VqYAtRFBHrC

6. If (x+y+2) =9 and (zy+yz+ zz) = 26

then find the value of 2 + y2z2

o Watch Video Solution

7.Find 27a® + 64b%,if 3a + 4b = 10 and ab =2

° Watch Video Solution

8.Find z° — ¢°,find 2 — y = 5and xy =14

° Watch Video Solution



https://dl.doubtnut.com/l/_X3dlMg69F3bH
https://dl.doubtnut.com/l/_VtQmwFLqQCGD
https://dl.doubtnut.com/l/_VkENinluCHbN
https://dl.doubtnut.com/l/_xOPUzh27u29V

1 1
9.1fa + Pl 6, then find the value of a® + —
a

o Watch Video Solution

1 1
10.1f 2° + — = 23, then find the value of = + —
I
, 1
and x° + —
i

o Watch Video Solution

3
1. If <y— l) = 27, then find the value of
Y

° Watch Video Solution



https://dl.doubtnut.com/l/_xOPUzh27u29V
https://dl.doubtnut.com/l/_Rs19upXE9upr
https://dl.doubtnut.com/l/_jsh89Y723uo8

12. Simplify

(i)

(2a + 3b + 4c) (4a® + 9b° + 16¢” — 6ab — 12bc — 8ca)
(ii)

(z — 2y + 3z2) (a:2 + 4y® + 92° + 2zy + 6yz — 3x2)

o Watch Video Solution

13. by using identity evaluate the following

(i) 7 —10° + 33

1 27
G127
(i) —|—8 A

° Watch Video Solution



https://dl.doubtnut.com/l/_jsh89Y723uo8
https://dl.doubtnut.com/l/_8ikdAxfb3MZV
https://dl.doubtnut.com/l/_EUH3xl7ZZrO2

14. If 2¢ — 3y — 4z = 0, then find

8x3 — 27y3 — 6423

° Watch Video Solution

1. Factorise the following expressions:

(i) 2a® + 4ab + 8a’c

(i) ab — ac — mb + mc

° Watch Video Solution



https://dl.doubtnut.com/l/_EUH3xl7ZZrO2
https://dl.doubtnut.com/l/_shecZBhKMpxm
https://dl.doubtnut.com/l/_jPW1MCRWPzhS

2. Factorise the following expressions:
(i) z? + 4z + 4
(ii) 3a% — 24ab + 48b°
(i) 2° — 16z
g 1
(ivym*+ — — 23
m2

(v) 6 — 21622

1
(vi) a® + — — 18
a

° Watch Video Solution

3. Factorise the following expression:
(i) 4z? + 9y° + 252% 4+ 122y + 30yz + 202z

(i) 2522 + 4y® + 922 — 20zy + 12yz — 302z


https://dl.doubtnut.com/l/_uqrRFadPWQKD
https://dl.doubtnut.com/l/_wzKiFaqJbGjX

o Watch Video Solution

4. Factorise the following expression:
(i) 82> + 125y°
(i) 272> — 8y°

(i) a® — 64

° Watch Video Solution

5. Factorise the following:
(i) 2> + 8y + 6zy — 1

(i) 2 — 8m> — 27n® — 18Imn

| ° wAr_oL_L vl ~_ ..o _


https://dl.doubtnut.com/l/_wzKiFaqJbGjX
https://dl.doubtnut.com/l/_PaTckiXfbLBp
https://dl.doubtnut.com/l/_slE3hGeJW7kZ

It T vvaillll VIQCO o0IULIvIl

1. Factorise the following.
(i) 22 + 10z + 24

(i) 22 + 4z — 12

(iii) p*> — 6p — 16

(iv) t2 4+ 72 — 17¢

(v) y2 — 16y — 80

(vi) a® + 10a — 600

o Watch Video Solution



https://dl.doubtnut.com/l/_slE3hGeJW7kZ
https://dl.doubtnut.com/l/_A2iL7yiLscVC
https://dl.doubtnut.com/l/_P5MX7WLYLGIl

2. Factorise the following .
(1)2a* + 9a + 10

(i) 5z? — 29zy — 42y
(iii) 9 — 18z + 8z

(iv) 62> + 16zy + 8y

(v) 1222 + 362y + 27y’ x>

(vi) (a + b)* + 9(a + b) + 18

° Watch Video Solution

3. Factorise the following.

(i) (p—q)" —6(p—q) — 16

(i) m2 + 2mn — 24n?


https://dl.doubtnut.com/l/_P5MX7WLYLGIl
https://dl.doubtnut.com/l/_tkYlaaLRyaH8

(iii) v/5a* + 2a — 3,/
(iv) a* — 3a® + 2

(v) 8m> — 2m?n — 15mn?

1 1 2
i) —+ — +
T Yy LYy

° Watch Video Solution

1. Find the quotient and remainder of the following.

(i) (42° + 62 — 23z + 18) + (z + 3)

(ii) (8y® — 16y® + 16y — 15) + (2y — 1)


https://dl.doubtnut.com/l/_tkYlaaLRyaH8
https://dl.doubtnut.com/l/_teqmLYRcxuDh

(i) (8z° — 1) + (2z — 1)

(iv) (— 18z + 142” + 242° + 18) + (3z + 4)

o Watch Video Solution

2. The area of a rectangle is z? + 7z + 12. If its

breath is (z + 3) , then find its length .

o Watch Video Solution

3. The base of a parallelogram is (52 + 4). Find its

height, if the area is 25z — 16.

° Watch Video Solution



https://dl.doubtnut.com/l/_teqmLYRcxuDh
https://dl.doubtnut.com/l/_WCgQHQnYU0sb
https://dl.doubtnut.com/l/_Q59HvzhVFDtH

4.The sum of (z + 5) observations is (z° + 125) .

Find the mean of the observations.

o Watch Video Solution

5. Find the quotient and remainder for the
following using synthetic division :

(z2° +2° — Tz — 3) =+ (z — 3)

° Watch Video Solution



https://dl.doubtnut.com/l/_Q59HvzhVFDtH
https://dl.doubtnut.com/l/_hgrc6VvkBgNZ
https://dl.doubtnut.com/l/_KjzmgXuRxiPm

6. If the quotient obtained on dividing
(8z* — 22* + 6z — 7) by  (2z +1) is
(4w3 + px? — gz + 3), then find p,qg and also the

remainder.

o Watch Video Solution

7. If the quotient obtained on dividing
3z3 _ 11z? _ 34z + 106byx — 3is 3xN(2) +ax+b. °

then find a, b and also the remainder.

° View Text Solution



https://dl.doubtnut.com/l/_2Mc81WaGHGrN
https://dl.doubtnut.com/l/_6ijnQHNpAYzO

1. Factories each of the following polynomials using
synthetic division :

3 — 322 — 10z + 24

° Watch Video Solution

1. Find the GCD for the following:
M p’,p", p’

(i) 423, y°, 2°


https://dl.doubtnut.com/l/_MUWSaYBGH0q0
https://dl.doubtnut.com/l/_80BNrhi8f3Qg

(iii) 9a%b?c3, 15a3b%c

(iv) 6423, 2402°

(v) ab2c3, a2b3c, a’bc?

(vi) 352°y3 2%, 492%y23, 14zy®2?
(vii) 25ab®c, 100a%be, 125ab

(viii) 3abc, bxyz, Tpgr

° Watch Video Solution

2. Find the GCD for the following.

(i) (2z + 5), (5z + 2)
(”) am—|—17 am—|—2, CLm—l—3

(iii) 2a® + a, 4a® — 1

(iv)a® — 9az?, (a — 3z)°


https://dl.doubtnut.com/l/_80BNrhi8f3Qg
https://dl.doubtnut.com/l/_uta0KmpArdOa

o Watch Video Solution

1. Draw the graph for the following:
)y =2z
(i)y =4x — 1

3
(i) y = (E)w + 3

(iv) 3z + 2y = 14

° Watch Video Solution



https://dl.doubtnut.com/l/_uta0KmpArdOa
https://dl.doubtnut.com/l/_ouqaW1fdhJvd

2. Solve graphically

x+y="7cz—y=3

° Watch Video Solution

3. Two cars are 100 miles apart. If they drive towards
each other they will meet in 1 hour. If they drive in
the same direction they will meet in 2 hours. Find

their speed by using graphical method.

° Watch Video Solution



https://dl.doubtnut.com/l/_WRZw2DCfgvps
https://dl.doubtnut.com/l/_4Cp4jJqlW07E

1. Solve using the method of substitution.
()2 —3y="7,9c +y=29

(i) 1.5 + 0.1y = 6.2, 3x — 0.4y = 11.2

(iii) 10 % ofx + 20 % ofy = 24,3z — y = 20

(iv) v22 — /By =1,3z — /8y =0

° Watch Video Solution

2.Raman's age is three times the sum of the ages of
his two sons. After 5 years his age will be twice the
sum of the ages of his two sons. Find the age of

Raman.

‘ ° Watch Video Solution


https://dl.doubtnut.com/l/_6Os6ogENqO4F
https://dl.doubtnut.com/l/_5zRNxdwuUBAd

3. The middle digit of a nhumber between 100 and
1000 is zero and the sum of the other digit is 13. I
the digits are reversed , the number so formed
exceed the original number by 495. Find the

number.

o Watch Video Solution



https://dl.doubtnut.com/l/_5zRNxdwuUBAd
https://dl.doubtnut.com/l/_xKvcnCHPnEn0

1. Solve by the method of elimination

2r —y=3,3x+y=17

(x —y=25,3x + 2y = 25

. T y zr Yy _

(iii) 10 - = = 14, 3 - 6 =15

(iv) 3(2z + y) = Txy, 3(x + 3y) = 1lzy
4 3

(V) —+dy=7,—+4y =25
x x

(vi) 13z + 11y = 70, 11z + 13y = 74

° Watch Video Solution

2. The monthly income of A and B are in the ratio

3:4 and their monthly expenditures are in the ratio


https://dl.doubtnut.com/l/_eMcbMJjguw1a
https://dl.doubtnut.com/l/_NCLSGOGthOo5

5:7 . If each saves Rs. 5,000 per month, find the

monthly income of each .

o Watch Video Solution

3. Five years ago, a man was seven times as old as
his son, while five years hence, the man will be four

times as old his son. Find thie present age.

° Watch Video Solution



https://dl.doubtnut.com/l/_NCLSGOGthOo5
https://dl.doubtnut.com/l/_JpuSGFhyZVvp

1. Solve by cross-multiplication method.
()8 — 3y =12,5x =2y + 7

(ii) 6z + Ty — 11 = 0, 5z + 2y = 13

2 3 3 1
(i) —+—=5,———+9=0
x Y x Yy

o Watch Video Solution

2. Akshaya has 2 rupee coins and 5 rupee coins in
her purse. If in all she has 80 coins totalling Rs. 220,

how many coins of each kind does she have.

° Watch Video Solution



https://dl.doubtnut.com/l/_9CivoFXVSPWB
https://dl.doubtnut.com/l/_4vt8c9VcgVyA
https://dl.doubtnut.com/l/_oXGoUYLMUxo7

3. It takes 24 hours to fill a swimming pool using
two pipes. If the pipe of larger diameter is used for
8 hours and the pipe of the smaller diameter is
used for 18 hours. Only half of the pool is filled. How

long would each pipe take to fill the swimming pool.

° Watch Video Solution

Exercise 3 14

1. The sum of a two digit number and the number
formed by interchanging the digits is 110. If 10 is

subtracted from the first number, the new number


https://dl.doubtnut.com/l/_oXGoUYLMUxo7
https://dl.doubtnut.com/l/_DtW2XvH0Y4of

is 4 more than 5 times the sums of the digits of the

first number. Find the first number.

o Watch Video Solution

2. The sum of the numerator and denominator of a
fraction is 12. If the denominator is increased by 3,

the fraction becomes 7 Find the fraction.

° Watch Video Solution

3. ABCD is a cyclic quadrilateral such that

/A = (4y +20)°, /B = (3y — 5)°, ZC = (4z)°


https://dl.doubtnut.com/l/_DtW2XvH0Y4of
https://dl.doubtnut.com/l/_zck9lrGlPIuy
https://dl.doubtnut.com/l/_GGzojaV3UAko

and /D = (7z 4+ 5)° .Find the four angles.

° Watch Video Solution

4. On selling a T.V. at 5% gain and a fridge at 10%
gain, a shopkeeper gains Rs. 2000. But if he sells the
T.V. at 10% gains and the fridge at 5% loss, he gains
Rs. 1500 on the transaction. Find the actual price of

the T.V. and the fridge.

o Watch Video Solution



https://dl.doubtnut.com/l/_GGzojaV3UAko
https://dl.doubtnut.com/l/_BX5H8Y0xySK8

5. Two numbers are in the ratio 5:6 . If 8 is

subtracted from each of the numbers the ratio

becomes 4: 5. Find the numbers.

° Watch Video Solution

6.4 Indians and 4 Chinese can do a piece of work in
3 days. While 2 Indians and 5 Chinese can finish it in
4 days. How long would it take for 1Indian to do it ?

How long would it takes for 1 Chinese to do it ?

° Watch Video Solution



https://dl.doubtnut.com/l/_tYbnsnwYLJru
https://dl.doubtnut.com/l/_zDXd7I7P65yy

1. If 3 +6z>+ ke +6 is exactly divisible by

(z +2),thenk =7

o Watch Video Solution

2. The root of the polynomial equations 2x+3=0 is

1

A.g
1
B.—g
c_3
T2


https://dl.doubtnut.com/l/_lAD1kyxKZiul
https://dl.doubtnut.com/l/_S3sqNu6wl4ro

Answer: C

° Watch Video Solution

3. The type of the polynomial 4 — 3z° is ........

A. constant polynomial
B. linear polynomial
C. quadratic polynomial

D. cubic polynomial


https://dl.doubtnut.com/l/_S3sqNu6wl4ro
https://dl.doubtnut.com/l/_4WGKTEmXQfYX

Answer: d

° Watch Video Solution

4, If z°' +51 is divided by z +1 , then the
remainder is

A.O

B.1

C.49

D. 50

Answer: d

f 1


https://dl.doubtnut.com/l/_4WGKTEmXQfYX
https://dl.doubtnut.com/l/_6gwGN3LoZ8bo

| ° Watch Video Solution

5. The zero of the polynomial 2z + 5 is

A5
2

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_6gwGN3LoZ8bo
https://dl.doubtnut.com/l/_3e02hYFBWnb7

6. The sum of the polynomials
p(z) =2° —2* - 2,q(x) = 2> — 3z + 1

Az’ —3z—1

B.z° + 2z% — 1

C.z®—22% — 3z

D.z° — 222 + 3z — 1

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_jv5AgprzxeqU

7. Degree of the polynomial (y° —2)(y® +1) is
A.9
B. 2
C.3

D.6

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_ilPbbwXYzkrG

8. Let the polynomials be
(1) —13¢° + 4¢° + 12¢ (2) (z* + 4) (z* + 9)
(3)4¢"° — ¢’ + ¢" (4) - gy” +y +y
Then ascending order of their degree is

A. AB,D,C

B. AB,C,D

C.B,C,DA

D.B,AC,D

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_DYCZcO74VLad

9. If p(a) = 0 then ( x-a) is a

p(x)

A. divisor

B. quotient

C.remainder

D. factor

Answer: d

of

o Watch Video Solution

10. Zeros of (2-3X) iS wwecveerenes


https://dl.doubtnut.com/l/_Yp3oh0ktJAdS
https://dl.doubtnut.com/l/_mfNDPwHc1xSI

A3

N

Y
| w| o

Answer: ¢

° Watch Video Solution

11. Which of the following has x-1 as a factor ?

A. 2x-1

B. 3x-3


https://dl.doubtnut.com/l/_mfNDPwHc1xSI
https://dl.doubtnut.com/l/_RRa60k99EPYR

C. 4x-3

D. 3x-4

Answer: b

° Watch Video Solution

12.If x - 3 is a factor of p(x) , then the remainder is

A3


https://dl.doubtnut.com/l/_RRa60k99EPYR
https://dl.doubtnut.com/l/_CmAtDHKTYcMi

Answer: c

° Watch Video Solution

13. (x—l—y)(:c —zy+y ) is equal to

A (z +y)°
B.(z — y)°
C.xz’ + y3

D. z* —y3

Answer: ¢

o Watch Video Solution



https://dl.doubtnut.com/l/_CmAtDHKTYcMi
https://dl.doubtnut.com/l/_2tIpaGdUGazA

14.(a + b — ¢)® is equal to worce.

A (a—b+c)’

B.(—a—b+c)’

C.(a+b+c)’
D.(a —b—c)?
Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_2tIpaGdUGazA
https://dl.doubtnut.com/l/_K9q0IOfDs6Sz

15. In an expression az’ + bz + ¢ the sum and
product of the factors respectively,

A. a,bc

B. b,ac

C.acb

D. bc,a

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_qDsTDwnDTr72

16. If (zx +5) and (x —3) are the factors of
azx® + br + ¢, then values of a,b and c are

A.1,2,3

B. 1,2,15

C.1,2,-15

D. 1,-2,15

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_RzfOfcKrMr38

17. Cubic polynomial may have maximum of

linear factors.

Al

B.2

C.3

D.4

Answer: c

° Watch Video Solution



https://dl.doubtnut.com/l/_QHl4SvJbklvz

18. Degree of the constant polynomial is

A.3

B.2

C.1

D.O

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_eKxi7JbXiiAt

19. Find the value of m from equation

2z + 3y = m. if its one solution is x=2 and y=-2

A2

C.10

D.O

Answer: b

o Watch Video Solution

20. Which of the following is a linear equations?


https://dl.doubtnut.com/l/_I77mTELcWcyV
https://dl.doubtnut.com/l/_1eiF5YzpXLWK

Answer: c

o Watch Video Solution

21. Which of the following is a solution of the

equations 2z — y = 67

A (2/4)


https://dl.doubtnut.com/l/_1eiF5YzpXLWK
https://dl.doubtnut.com/l/_jnczOiYmlw97

B. (4,2)

C.(3,1)

D. (0,6)

Answer: b

o Watch Video Solution

22. If (2,3) is a solutions of linear equations

2z + 3y = k then the value of kiis ..o

A. 12

B.6


https://dl.doubtnut.com/l/_jnczOiYmlw97
https://dl.doubtnut.com/l/_QapG4atYmnyX

C.0O

D.13

Answer: d

° Watch Video Solution

23. Which condition does not satisfy the linear

equations ax+by+c=0 ..............

Aa#0,b=0

B.a=0,b#0

Ca=0,b=0,c#0


https://dl.doubtnut.com/l/_QapG4atYmnyX
https://dl.doubtnut.com/l/_HExfH5BQpwct

D.a # 0,b# 0

Answer: C

° Watch Video Solution

24. Which of the following is not a linear equation is

two variable

A. ax+by+c=0

B.Oz +0y+c=20

COxr+by+c=0

D.ax +0y+c=0


https://dl.doubtnut.com/l/_HExfH5BQpwct
https://dl.doubtnut.com/l/_aGfP9N3BLd2N

Answer: b

° Watch Video Solution

25. The value of k for which the pair of linear
equations 4 + 6y —1=0 and 2z + ky—7=0
represents parallel lines is

A. k=3

B. k=2

C. k=4

D. k=-3


https://dl.doubtnut.com/l/_aGfP9N3BLd2N
https://dl.doubtnut.com/l/_gMKm23W0L1cN

Answer: a

° Watch Video Solution

26. A pair of linear equations has no solution then

the graphical representation is


https://dl.doubtnut.com/l/_gMKm23W0L1cN
https://dl.doubtnut.com/l/_TmOOUxTjrNmB

Answer: b

° Watch Video Solution

b
27. If ﬂ/b—l where aix + bjy + ¢4 = 0 and

as 2

asx + byy + cg = 0 then the given pair of linear

equation has solution (s)

A. no solutions

B. two solutions

C.unique

D. infinite


https://dl.doubtnut.com/l/_TmOOUxTjrNmB
https://dl.doubtnut.com/l/_AI7nvoZaalvU

Answer: C

° Watch Video Solution

28.If — = — =— where a;z +bjy+¢; =0

as b2 Co

and asx + byy + co = 0 then

linear equation has

the given pair of

solution (s) .

A. no solutions

B. two solutions

C.infinite

D. unique


https://dl.doubtnut.com/l/_AI7nvoZaalvU
https://dl.doubtnut.com/l/_JSWNr7afd6D1

Answer: a

° Watch Video Solution

29. GCD of any two prime numbers is

B.O

C.1

D. 2

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_JSWNr7afd6D1
https://dl.doubtnut.com/l/_czWTEQatWIjK

30.The GCD of z* — y* and 2% — ¢ is

Azt —y4
B. z° —y2

2
C.(z+vy)

D. (z +y)*

Answer: b

° Watch Video Solution

Textbook Activity


https://dl.doubtnut.com/l/_czWTEQatWIjK
https://dl.doubtnut.com/l/_AuXmK5zZDhVz

1. Find the value of k for the given system of linear
equations satisfying the condition below

()2¢ +ky=1,3z —5y=7 has a unlque
solutions

(i) kx + 3y = 3, 12 + ky = 6 has no solutions
(iii) (kK —3)z + 3y = k, kx + ky = 12 has infinite

number of solutions

° Watch Video Solution

2. Find the value of a and b for which the given

system of linear equation has infinite number of


https://dl.doubtnut.com/l/_pCyjmRGaQGrH
https://dl.doubtnut.com/l/_X9W49a68k4PM

solutions

3z —(a+1)y=2b— 1,5z + (1 — 2a)y = 3b

o Watch Video Solution

Additional Questions

1. Which of the following is a monomial

A. 42>

B.3x+1

C.3z% 4+ 2z +1

D.4z3 + 1


https://dl.doubtnut.com/l/_X9W49a68k4PM
https://dl.doubtnut.com/l/_EplvkvNgmYWa

Answer: A

° Watch Video Solution

2. Which of the following is trinomial

A —Tz
B. 2% — 4y°
C. a:zy — wy2 + vy

D.12a — 9ab + 5b — 3

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_EplvkvNgmYWa
https://dl.doubtnut.com/l/_BqgaW2Su6rik

3. The sum of 522, 722, 822, 112? and 922 is ..

° Watch Video Solution

4. The area of rectangle with length 2I°m and
breadth 3Im? is ...

A. 6°m?

B. ’m?

C.203m?

D. 413m3


https://dl.doubtnut.com/l/_BqgaW2Su6rik
https://dl.doubtnut.com/l/_5hW3BC9W8GYu
https://dl.doubtnut.com/l/_zoXC3uLDGJwQ

Answer: A

° Watch Video Solution

5. The coefficient of 2 and x in 2z° — 522 + 6z — 3

are respectively ...

A2, —5

B.2,6

C.—5,6

D.—5, —3

Answer: C

f 1


https://dl.doubtnut.com/l/_zoXC3uLDGJwQ
https://dl.doubtnut.com/l/_Jagpve6col88

| ° Watch Video Solution

6. In the system 6z — 2y = 3, kx —y = 2 has a

unique solution then ...

A k=3

B.k + 3

Ck=4

D.k +# 4

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Jagpve6col88
https://dl.doubtnut.com/l/_3nNQet6kRUy8

7. A system of two linear equation in two variables is

inconsistent.If their graphs ...

A. coincide

B. interset only at a point

C.do not intersect at any point

D. cut the x-axis

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_YVBrSbkYuz4R

8. The system of equation

x—4y=83x —12y=24.................

A. has inifinitely many solution

B. has no solution

C. has a unique solution

D. may or may not have a solution

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Nt8T64tjmBRr

9.The solutionsetof t —ay =4 and x +y = 0is

(1,-1) the value of a is ...

D.3

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_NMGOXhP4zf6r

10. The solution set of z +y=7,x —y =3 is

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_aPOF38RbECLM

11. What must be added to z* — 322 + 2z + 6 to

getz? — 22% — z + 87

° Watch Video Solution

12. What must be subtracted from

vt + 2y° — 3y + 8to get y* — 2% + 67

° Watch Video Solution

13. The area of a rectangle is z* + 922 + 20 sq.units

and its length is 2% + 4 units. Find its breadth in


https://dl.doubtnut.com/l/_5HtqvUSajTkz
https://dl.doubtnut.com/l/_3fPURKNiZwOn
https://dl.doubtnut.com/l/_JgQRC9UZS5X4

term of x.

° Watch Video Solution

14. Solve 3z + 4y = 24,20x — 11y = 47 using

cross multiplication method.

° Watch Video Solution

15. A fraction such that if the numerator is
multiplied by 3 and the denominator is reduced by

8
3 we get 11 but if the numerator is increased by 8


https://dl.doubtnut.com/l/_JgQRC9UZS5X4
https://dl.doubtnut.com/l/_VyAWqQZX4GAB
https://dl.doubtnut.com/l/_5Kp7MJZ3DwbR

2
and the denominator is doubled we get E.Find the

fraction.

o Watch Video Solution

16. One number is greater than the thrice the other
number by 2. If 4 j times the smaller number

exceeds the greater by 5. find the number.

° Watch Video Solution

17. The cost of 11 pencil and 3 erasers is rupees 50

and the cost of 8 pencils and 3 erasers is rupees 38


https://dl.doubtnut.com/l/_5Kp7MJZ3DwbR
https://dl.doubtnut.com/l/_NQLEyEo7cSOX
https://dl.doubtnut.com/l/_YsAm98bESRhq

Find the cost of pencils and erasers.

o Watch Video Solution

Assignment Fill In The Blanks

1. The coefficient of — 5z is ...........

o Watch Video Solution

2.7x + 5y + 3 has v Terms

o Watch Video Solution



https://dl.doubtnut.com/l/_YsAm98bESRhq
https://dl.doubtnut.com/l/_SSDergPRl3NB
https://dl.doubtnut.com/l/_jjwNoD08h3jz

3. An expression having only two terms is called a

o Watch Video Solution

4, The degree of polynomial

5%y + 323y + 3zy + Tis wene

° Watch Video Solution

5. The sumof 722 — 4z + 5 and 92 — 10iS e

o Watch Video Solution



https://dl.doubtnut.com/l/_bTE0x5w5YN5O
https://dl.doubtnut.com/l/_uHN21ow6Y3Ut
https://dl.doubtnut.com/l/_QIg3kNjIU3uj

Assignment Choose The Correct Answers

1. If the system 6z —2y =3,kr —y =2 has

unique solutions then.............

A. k=3

B.k # 3

Ck=4

D.k # 4

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_QIg3kNjIU3uj
https://dl.doubtnut.com/l/_2hBOrY5lhYGU

2. A system of two linear equation in two variable is

inconsistent, if their graphs ...

A. coincide

B. intersect only at a point

C.do not intersect at any point

D. cut the x-axis

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_2hBOrY5lhYGU
https://dl.doubtnut.com/l/_4Xh3hT4kZzWb

3. The system of equation

x—4y=28,3x — 12y =24 ............

A. has inifinitely many solution

B. has no solution

C. has a unique solution

D. many or may not have a solution

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_izMK4p2j8j02

4. Find the value of a from the equation

5z — 3y = a If its one solution is £ = 2 and y=-3

A —19

B.19

C. 20

D. —20

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_FZpgLJWaz3gT

5. Which of the following is a linear equations?

1
Axr— — =0b.
T

B.3z(x —3) =5
C.5 —|—7—1
.5z =3

D.z> — 5z =5

Answer: C

° Watch Video Solution

6. The value of k for which the pair of linear

equations


https://dl.doubtnut.com/l/_vYLYjNgmsfbx
https://dl.doubtnut.com/l/_yZT2bPrhkE6x

7Tx + 3y — 5 =0 and 14x 4 ky — 2 = 0 represent

parallel line is ...

Ak=4
B.k=1T
Ck= —6
D.k =6
Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_yZT2bPrhkE6x

ai

b _ G

as b2 Co

7. If where

a1x + b1y + c1 = 0 and asx + boy + c2 = 0,
then the given pair of linear equation has ...
solutions

A. no solutions

B. two solutions

C. infinite number

D. a unique

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_sY2VMJVg7chq

8. Find the quotient and the remainder when

5z° — 13z* — 152% — 20 is divided by x-3

° Watch Video Solution

9. Twice the area of a right angled triangle
1522 + 19z + 6. squnits.If its altitude is 5x+3 units

find its base in terms of x.

o Watch Video Solution



https://dl.doubtnut.com/l/_rFVa7KYd4gex
https://dl.doubtnut.com/l/_3wlBQ0wcxuja

10. Find the total saving of a boy who saves rupes
(4x-6y) rupes (6x+2y) , rupes (4y-x ) and rupes (y-2x)

for four consecutive days.

° Watch Video Solution

1. Simplify 3y(2y—7) —3(y—4) —63 and

evaluate when y=-2

° Watch Video Solution



https://dl.doubtnut.com/l/_pMSIJYGypEum
https://dl.doubtnut.com/l/_Vzlo6EsqJHnt

12. Draw the graph of the equations

x-y+ 1=0 and 3x +2y -12=0.

Determine the coordinates of the vertices of the
triangle formed by the lines and the x-axis and

shade the triangular region.

° Watch Video Solution

9
13. A fraction becomes 11 if 2 is added to both the
numerator and the denominator if 3 is added to
both the numerator and the denominator it

becomes R Find the fraction.

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_5qXiaikWJEEt
https://dl.doubtnut.com/l/_IEDkObeIXsyq

14. The sum of the digits of a two-digits number is 9.
Also nine times this number is twice the number
obtained by reserving the order of the digits. Find

the number.Solve by cross multiplication method.

° Watch Video Solution

15. A part of monthly hostel charges is fixed and the
remaining depends on the number of days one has
taken food in the mess. When a student A takes

food for 20 days she has to pay rupees 1,000 as


https://dl.doubtnut.com/l/_IEDkObeIXsyq
https://dl.doubtnut.com/l/_6tAhg2jrmHWB
https://dl.doubtnut.com/l/_B9GphHGvqiTy

hostel charges whereas a student B, Who takes
food for 26 days pays rupees 1,180 as hostel charges

find the fixed charges and the cost of food per day.

° Watch Video Solution

16. solve for X and y

51, 6 3
z—1 gy—2 M1y 2"

° Watch Video Solution

Assignment Answer The Following Questions



https://dl.doubtnut.com/l/_B9GphHGvqiTy
https://dl.doubtnut.com/l/_kLmNIfNXqmsZ

1. Subtract 52 — 4y* + 6y — 3 from

7z — dzy + 5y* + 5z — 3y

o Watch Video Solution



https://dl.doubtnut.com/l/_6xUBAHLGRH55

